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a. Given the pressuge id P = 31,000N/m2, find the pressure altitude, from the standard

atmosphere tableq ffie
@ h:8000 K#fu#:35580 N/m2 (lower)

@ h = 9000 frii-rp : 30730 N/m2 (upper) (06 Marks)
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b.

c.

ru''
Consider an airplane flying with a velocity of 60n9p'at"a standard altitude of 3km. At a point
nn rhe rvina rhe airflow velocitv is 70mls. &cuiate the pressure at this point. Assumeon the wing, the airflow velocity is 70mls. dkulate, th,e p,ressure at this point. Assume

incompressible flow. @3000m Altitude : pr*7:Ql:x 10" N/m' - :'- 
"d&o.9oe kg/m' :*'; (06 Marks)

Define: W tr
i) Centre ofpressure ffi 4" dii) Aerodynamic centre J%Y"t .@
iii) Aspect ratio $:t+:e fufl U* 

\u

iv) Mach numbe.. n*ruB=# 
*-.' 

(0E Marks)
q E\ ,rr/
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lllustrate typical parts qfficf engine. tu B (07 Marks)

Explain Ramjet engipe;.1e# ^ "'" 
(06 Marks)

+,ru
eFdicr

Consider a tortojdffitiiuered airplane flyrng @ attandard altitude of 30,000ft at a velocity

iOo-iifr. rhe trti:ffi'engine itself has inl"e"ptd exit areas of 7fr2 and 4.5 ft2 respectively.
Consider a turbojffiFtiwered airplane flying @ a'btandard altitude of 30,000{ at a veloctty

iOo-iifr. rhe trti:ffi'engine itself has inl"e"ptd exit areas of 7fr2 and 4.5 ft2 respectively.

The velocity*a6d$r.rrul of the e*tu,ffi$t at the exits are 16000ft/s and 640!hl#,

re spec ti ve lfud- hcu I ate th e thru st o f the tgrb$j et.

18AE34

movement, Axes of
(10 Marks)
(10 Marks)

(08 Marks)
(08 Marks)
(04 Marks)

(10 Marks)
(05 Marks)
(05 Marks)

(07 Marks)
(08 Marks)
(05 Marks)

5a.
b.
c. Consider a turboi

The velocity*a6d Sressure of the exharffiSHs at the exi

6 iooqrhqJ: e.qoos '. toa slug/ffi**

@ 5-:62e.6t6liin'- #ry -WY (oTMarks)
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b.
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Explain TS and PV diagraq#r ideal Brayton c$]e' 'r i,r,.""'"' (08 Marks)

r.;f q* ,. a - !-.. ----..-^--rl-:-- tra ilt^-t-^\
Derive the fundamental-thq*tt equation for je-t6ropt1sion. * (12 Marks)
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l0 a.

b"
c.

-=.**ffi OR
Describe Basic 6 and BffiqTGrouping of cockpit Display.
Draw a neat diagram s$odrng the Antennas location in an aircraft'
Describe APU. "s".\
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